FEOERBMRTELB OB T RS B LB O [24313001]

Yo gRR—Y,—7 [311010] b7 E E
2024/07/20 ~ 2024/07/21 ;tyﬂéé ?ﬂrﬁjg gmﬁf
BeCEHE MR WF EHR
BT ENE B R
Eo& = R 1
EL i 17 27 3T 4T 5 67 2 8hr
78208 TFEE T 1-200m ZEiE RHR®) 22.90[H A BEA®B) 23.44|IIH THHE) 2358 KH =F(G) 23.68|W 2 () 23.75 5 BLKk(Q) 24.01 54 BEAG) 24.43 DRI JEIRINEG) 24.61
JE:+0.4 5 BesET 5 e s 5 Bty B 55 - EF 5 g 5 eyt 55 - ERF 5 el
20| e pisoom | L D 4:27.51 [ Fuliy (1) 4:45.64[ K F Hrz o) 4:62.50 [ A FRH(1) 4:63.00 [ HIFF fF(1) 4:56.13[=H 57 (1) 4:59.76[H 1 Fi(1) 5:04.49 [fEK BEr(1) 5:04.63
5 e R RHHE B - 5 mewad 5 - ERE 5 e \gEh 5 Bt g 5 B Ak 5 et
1A20R|  eomnrisoom [ Q) 1:26.57 (KA B2(2) 4:26.79[IIF SREL(2) 4:26.86 [ Z=3}-(2) 4:28.60[ /M1 SH(2) 4:30.16 /M BiAE(2) 4:33.87 [ H () 1:36.63( Ak [E(2) 4:41.81
5 e gAlisT 5 et 5 ek 5 e B Iokep 5 W 5 WAk B e s 5 gt
1A20R sty pisoom | BT JEARRG) 4:08.17| 752 FHFEQ) 4:16.77 )1l ZEA(3) 4:20.93 [f7k  ME/A(3) 4:22.87[ AL f5K(3) 4:23.65 |12k 0(3) 4:24.80 (A FK(3) 4:26.08 [ R A (3) 4:32.22
5 sk 5 e Bt 5 et 5 e\ 5 H- gt B e s B e B e s
Th20m| TEHFLOMHOm |EE HAR) 15.04| )11 AR3(3) 15.68| AL (R (2) 15.73| Hl A8 () 16.28FTER fiCF-(2) 16.61 |41 Fese(2) 17.10[ 1A BhsE(3) 171541 18.64
JR:+0.7 5 e Bt 5 e AT 5 e Bt 5 e AR B BCBREEE 5 e\ 5 e g 5 Heeddep
w7 Q) 1m80|Z2E 4H(3) 1m60 IEET-16) 1mb5 (A [FEA(3) 1m55( T SREE(3) 1m45| 2 H B H B5(3) 1m45
7H208 AR E - 5 B Bt 5 WA 5 e AR 5 B BB 5 B BB B Bt
HH Heru2) 1m60
B e )\
78208 s g |)E RRG)  6mI6GLD[EIA BrRQ)  SmIl2.4)|%R ERE)  smSTGO[IM B 5m82(HL.DMR HIE)  Sm73CGLE)[KM FEKG)  5mbS(H0.6)| M JEA()  5mS3CGLI)[MEM Fkse@)  5mb3(-0.4)
. 5 e =i B By B amemeot1s)| B R AERT  a@emsoc Lol B R dUE 5 e Bt 5 BegEld 5 el 5 e \gE
TH20R| 4R i G.000ke) | LD JLAFE(3) 11m31|#2% SLH#(2) 10m74|#EH #E4E®3) 10m69 |7 15 5(3) 10m46 |HEEF K (2) 10m15| 5 f#(@3) 9m46 K FH=(3) 9Im13[ )1 HAR(2) 8m43
) B BeaERT 5 e Bidesh 5 Bexil 5 BBt B el B el 5 HetEkt B e
7A208 F15: 1442 F-100m [EEE ) 13.14[JER JB(n) 13.38 4% 2lex (1) 13.38[4T | B&Fn(1) 13.59 M2 = E®1) 13.87 3l WEfE(D) 13.89[BLA JHME(1) 13915 Hikk) 14.07
2401 B Wi 5B BeSaEt 5B BCAiTC 5 B e B BetEAT 5 B g B e TR B e S uRp
7A208 124 42 F-100m IR 4 #5(2) 12.86(f24 Wefn(2) 12.87 | IsEis 70 ii(2) 13.03[ Tl FEA @) 13.36[mi M HH(2) 13.56 A 3FHEE(2) 13754k DAl (2) 13.77B% FEEEQ) 13.80
JA:+0.5 B Besaskd 5 JR-KRCNext B B wtEsp 5 Btk 5 Bt gg 5 - ER B B St B e
7A208 153442 F-100m it HEAER) 12.75(E L WeH(3) 12.90[ 1R A0 A(3) 12.98{4E)11 S (3) 13.05{1L1F £#5@3) 13.46 | EEA(3) 13.69|7EH Ph(3) 13.81 (28K KI(3) 13.93
JA:+0.2 B Bk rdesb 5 B ARES T 5 Bewgt 5 BCBEHER = B BCBEHER = B Bkt B HetEkt B et
7A208 124 F1500m 2 L5(3) 4:45.51 B 3£ H (3) 4:47.92[ k) 4 FEQ) 4:51.60|ZRA /INHHR(3) 4:52.04| Rl ¥iE(3) 4:56.44 K51 BEFE(2) 4:59.49| FHH k) 5:07.13|H 5 A&HE(©2) 5:12.37
5 B\ B BeACkH 5 Be kT 5 e gREE B R \FET 5 e gReE B BUKY SR B -ERt
TH20R| kTR 1ke) i WA @) 10m80| [LIA 172(3) 10m54 |8 ZECL(3) 10m09| K42 %iH (3) 9m84 [ (LT BEZR(3) Im11[BIR DAREQ) 8m84|JHE R RE3) 8m84 |t HHH(2) 8m74
) ) 5 e REE 5 e s 5 B AT B e B B BRI B s B Rl B BiERSEp
A Bs B 335 A 23.5,5 [\ gHH 2154 [ 1953 | ERF 1258 |k i |k 1Lk 104%
e A LTRE SRt 238 | KKk 1358 \sE 12,5 S 11 [ BEEES = 9 e s o 85

JLE




